
№６７  ４年 基本問題 
２ わり算（１） 

 

 １ ６０÷３＝    ○た３×２０＝６０ 

 ２ １２０÷３＝４０   ○た３×４０＝１２０   

 ３ ６００÷３＝２００ ○た３×２００＝６００ 

      
 ４   ２４     ５   ３４ 
   ３）７２        ２）６８        

６                      ６ 
 １２                      ８ 
 １２                      ８ 

０                      ０ 
 
 ○た３×２４＋０＝７２  ○た２×３４＋０＝６８ 
  
 ６   １３     ７   ２０ 
   ４）５３        ４）８３ 
     ４           ８ 

１３           ３ 
     １２           ０ 
      １           ３ 
       
 
 ○た４×１３＋１＝５３  ○た４×２０＋３＝８３ 



№６７  ４年 基本問題 
２ わり算（１） 

 １ ６０÷３＝２０    ○た３×２０＝６０ 

 ２ １２０÷３＝４０   ○た３×４０＝１２０   

 ３ ６００÷３＝２００ ○た３×２００＝６００ 

      
 ４   ２４     ５   ３４ 
   ３）７２        ２）６８        

６                      ６ 
 １２                      ８ 
 １２                      ８ 

０                      ０ 
 
 ○た３×２４＋０＝７２  ○た２×３４＋０＝６８ 
  
 ６   １３     ７   ２０ 
   ４）５３        ４）８３ 
     ４           ８ 

１３           ３ 
     １２           ０ 
      １           ３ 
       
 
 ○た４×１３＋１＝５３  ○た４×２０＋３＝８３ 
 



 

 ８   ２０     ９   ３４２ 
   ４）８０         ６）２５２      

８                        ２４ 
 ００                       １２ 
 ００                       １２ 

０                         ０ 
 ○た４×２０＋０＝８０ ○た６×４２＋０＝２５２ 
  

 10     ４０     11    １４２ 
    ６）２４３        ６）８５２ 
      ２４          ６ 
       ０３         ２５ 
        ０         ２４ 
        ３           １２ 
       ０１２ 
 ００ 
 ○た６×４０＋３＝２４３ ○た６×１４２＝８５３ 
 

 12   １０７     13 ３６÷３＝１２ 
    ６）６４２       ○た３×１２＝３６ 
     ６          
      ４         

      ０      14 ７５÷３＝２５    

      ４２       ○た３×２５＝７５ 
  
                  

－３７－ 



 
 

 ８   ２０     ９    ３４２ 
   ４）８０         ６）２５２      

８                        ２４ 
 ００                       １２ 
 ００                       １２ 

０                         ０ 
 ○た４×２０＋０＝８０ ○た６×４２＋０＝２５２ 
  

 10     ４０     11    １４２ 
    ６）２４３        ６）８５２ 
      ２４          ６ 
       ０３         ２５ 
        ０         ２４ 
        ３           １２ 
       ０１２ 
 ００ 
 ○た６×４０＋３＝２４３ ○た６×１４２＝８５３ 
 

 12     １０７     13 ３６÷３＝１２ 
    ６）６４２       ○た３×１２＝３６ 
      ６          
       ４         

       ０     14 ７５÷３＝２５    

       ４２      ○た３×２５＝７５ 
 ４２  

        ０   

 ○た６×１０７＋０＝６４２    －３８－ 



№６８   ４年 ２ わり算（１） 
 ００ ○た６×１０７＋０＝６４２ 
１  

  ① ９０÷３＝２０   ○た３×２０＝６０ 

  ② ６０÷２＝３０   ○た２×３０＝６０ 

  ③ ８０÷４＝２０   ○た４×２０＝８０ 

 

２  

① １５０÷３＝５０  ○た３×５０＝１５０ 

② ２１０÷７＝３０  ○た７×３０＝２１０ 

③ ７２０÷９＝８０  ○た９×８０＝７２０ 

  

３  

① ８００÷８＝１００ 

② ９００÷９＝１００ 

③ ８００÷４＝２００ 

④ ９００÷３＝３００ 

 
 
                       



№６８   ４年 ２ わり算（１） 
 
１  

  ① ９０÷３＝３０   ○た３×３０＝９０ 

  ② ６０÷２＝３０   ○た２×３０＝６０ 

  ③ ８０÷４＝２０   ○た４×２０＝８０ 

 

２  

① １５０÷３＝５０  ○た３×５０＝１５０ 

② ２１０÷７＝３０  ○た７×３０＝２１０ 

③ ７２０÷９＝８０  ○た９×８０＝７２０ 

  

３  

① ８００÷８＝１００ 

② ９００÷９＝１００ 

③ ８００÷４＝２００ 

④ ９００÷３＝３００ 

 
                               
 



№６９   ４年 ２ わり算（１） 
 
 

４ 
①   １７     ②   １４ 

   ３）５１        ６）８４        
３                      ６ 
２１          ２４ 
２１                    ２４ 
０                      ０ 

 ○た３×１７＋０＝５１  ○た６×１４＋０＝８８ 
  
 ③   １３     ④   ２３ 
   ７）９１        ４）９２ 
     ７           ８ 

２１          １２ 
     ２１          １２ 
      ０           ０ 
 ○た７×１３＋０＝９１  ○た４×２３＋０＝９２ 
 
５ 

①   ４４     ②   １１ 
   ２）８８        ８）８８ 
     ８           ８ 

８           ８ 
      ８           ８ 
      

 ○た２×４４＋０＝８８  ○た８×１－３９－ 



№６９   ４年 ２ わり算（１） 
４ 
①   １７     ②   １４ 

   ３）５１        ６）８４        
３                      ６ 
２１          ２４ 
２１                    ２４ 
０                      ０ 

 ○た３×１７＋０＝５１  ○た６×１４＋０＝８４ 
  
 ③   １３     ④   ２３ 
   ７）９１        ４）９２ 
     ７           ８ 

２１          １２ 
     ２１          １２ 
      ０           ０ 
 ○た７×１３＋０＝９１  ○た４×２３＋０＝９２ 
 
５ 

①   ４４     ②   １１ 
   ２）８８        ８）８８ 
     ８           ８ 

８           ８ 
      ８           ８ 
      ０           ０      
 ○た２×４４＋０＝８８  ○た８×１１＋０＝８８ 

    －４０－ 



№７０   ４年 ２ わり算（１） 
 
 

６ 
 
①   １９     ②   １３ 

   ４）７８        ７）９７ 
     ４           ７ 

３８          ２７ 
     ３６          ２１ 
      ２           ６ 
 ○た４×１９＋２＝７８  ○た７×１３＋６＝９７ 
 
③   ２５     ④   １６ 

   ３）７９        ５）８２ 
     ６           ５ 

１８          ３２ 
     １５          ３０ 
      ３           ２ 
 ○た３×２５＋３＝７８  ○た５×１６＋２＝８２ 
 
⑤   ２１     ⑥   ３２ 

   ４）８７        ３）９８ 
     ８           ９ 

７           ８ 
      ４           ６ 
      ３           ２ 
 ○た４×２１＋３＝８７ ○た３×３２＋２＝９８ 



№７０   ４年 ２ わり算（１） 
 

６ 
 
①   １９     ②   １３ 

   ４）７８        ７）９７ 
     ４           ７ 

３８          ２７ 
     ３６          ２１ 
      ２           ６ 
 ○た４×１９＋２＝７８  ○た７×１３＋６＝９７ 
 
③   ２６     ④   １６ 

   ３）７９        ５）８２ 
     ６           ５ 

１９          ３２ 
     １８          ３０ 
      １           ２ 
 ○た３×２６＋１＝７９  ○た５×１６＋２＝８２ 
 
⑤   ２１     ⑥   ３２ 

   ４）８７        ３）９８ 
     ８           ９ 

７           ８ 
      ４           ６ 
      ３           ２ 
 ○た４×２１＋３＝８７  ○た３×３２＋２＝９８ 
  



№７１   ４年 ２ わり算（１） 
 
 

７  
①  ２０     ②   ４０ 

   ３）６２        ２）８１ 
     ６           ８ 

２           １ 
      ０           ０ 
      ２           １ 
 ○た３×２０＋２＝６２  ○た２×４０＋１＝８１ 

 
③  １０     ④   １０ 

   ４）４２        ７）７５ 
     ４           ７ 

２           ５ 
      ０           ０ 
      ２           ５ 
 ○た４×１０＋２＝４２  ○た７×１０＋５＝７５ 
 

⑤  ３０     ⑥   ３０  
   ３）９２        ２）６１ 
     ９           ６ 

６           １ 
      ０           ０ 
      ６           １ 

 ○た３×３０＋６＝９６  ○た２×－４１－ 



№７１   ４年 ２ わり算（１） 
７  

①  ２０     ②   ４０ 
   ３）６２        ２）８１ 
     ６           ８ 

２           １ 
      ０           ０ 
      ２           １ 
 ○た３×２０＋２＝６２  ○た２×４０＋１＝８１ 

 
③  １０     ④   １０ 

   ４）４２        ７）７５ 
     ４           ７ 

２           ５ 
      ０           ０ 
      ２           ５ 
 ○た４×１０＋２＝４２  ○た７×１０＋５＝７５ 
 

⑤  ３０     ⑥   ３０  
   ３）９２        ２）６１ 
     ９           ６ 

２           １ 
      ０           ０ 
      ２           １ 
 
 ○た３×３０＋２＝９２  ○た２×３０＋１＝６１ 

  －４２－ 



№７２   ４年 ２ わり算（１） 
 
 

８  
①  １０     ②   １０ 

   ４）４０        ７）７０ 
     ４           ７ 

０           ０ 
      ０           ０ 
      ０           ０ 
 ○た４×１０＋０＝４０  ○た７×１０＋０＝７０ 
 

③  ３０     ④   ２０ 
   ３）９０        ３）６０ 
     ９           ６ 

０           ０ 
      ０           ０ 
      ０           ０ 
 ○た３×３０＋０＝９０  ○た３×２０＋０＝６０ 

 
⑤  ２０     ⑥   ３０ 

   ４）８０        ２）６０ 
     ８           ６ 

０           ０ 
      ０           ０ 
      ０           ０ 
 ○た４×２０＋０＝８０  ○た２×３０＋０＝６０ 



№７２   ４年 ２ わり算（１） 
 

８  
①  １０     ②   １０ 

   ４）４０        ７）７０ 
     ４           ７ 

０           ０ 
      ０           ０ 
      ０           ０ 
 ○た４×１０＋０＝４０  ○た７×１０＋０＝７０ 
 

③  ３０     ④   ２０ 
   ３）９０        ３）６０ 
     ９           ６ 

０           ０ 
      ０           ０ 
      ０           ０ 
 ○た３×３０＋０＝９０  ○た３×２０＋０＝６０ 

 
⑤  ２０     ⑥   ３０ 

   ４）８０        ２）６０ 
     ８           ６ 

０           ０ 
      ０           ０ 
      ０           ０ 
 ○た４×２０＋０＝８０  ○た２×３０＋０＝６０ 
                                



№７３   ４年 ２ わり算（１） 
 
答 

９  
①   ５３     ②      ６５ 

   ４）２１２        ７）４５５ 
     ２０           ４２ 

１２           ３５ 
      １２           ３５ 
       ０            ０ 
 ○た４×５３＝２１２    ○た７×６５＝４５５ 
 
 

③   ２５     ④     ３２ 
   ４）１００        ８）２５６ 
      ８           ２４ 

２０           １６ 
      ２０           １６ 
       ０            ０ 
 ○た４×２５＝１００    ○た８×３２＝２５６ 

 
⑤   ２５     ⑥      ６９ 

   ８）２００        ７）４８３ 
     １６           ４２ 

４０           ６３ 
      ４０           ６３ 
       

 ○た８×２５＝２００    ○た７×－４３－ 



№７３   ４年 ２ わり算（１） 
９  

①   ５３     ②      ６５ 
   ４）２１２        ７）４５５ 
     ２０           ４２ 

１２           ３５ 
      １２           ３５ 
       ０            ０ 
 ○た４×５３＝２１２    ○た７×６５＝４５５ 
 

③   ２５     ④     ３２ 
   ４）１００        ８）２５６ 
      ８           ２４ 

２０           １６ 
      ２０           １６ 
       ０            ０ 
 ○た４×２５＝１００    ○た８×３２＝２５６ 

 
⑤   ２５     ⑥      ６９ 

   ８）２００        ７）４８３ 
     １６           ４２ 

４０           ６３ 
      ４０           ６３ 
       ０            ０ 
 ○た８×２５＝２００    ○た７×６９＝４８３ 

－４４－ 



№７４   ４年 ２ わり算（１） 
 
答 

10  
①   ３３     ②      ３４ 

   ６）２０２        ５）１７２ 
     １８           １５ 

２２           ２２ 
      １８           ２０ 
       ４            ２ 
 ○た６×３３＋４＝２０２   ○た５×３４＋２＝１７２ 
 
 

③   ５２     ④     ６９ 
   ７）３６５        ７）４８６ 
     ３５           ４２ 

１５           ６６ 
      １４           ６３ 
       １            ３ 
 ○た７×５２＋１＝３６５   ○た７×６９＋３＝４８６ 

 
⑤   ２５     ⑥      ４３ 

   ８）２０５        ７）３０５ 
     １６           ２８ 

４５           ２５ 
      ４０           ２１ 
       ５            ４ 
○た８×２５＋５＝２０５    ○た７×        



№７４   ４年 ２ わり算（１） 
 
10  

①   ３３     ②      ３４ 
   ６）２０２        ５）１７２ 
     １８           １５ 

２２           ２２ 
      １８           ２０ 
       ４            ２ 
 ○た６×３３＋４＝２０２   ○た５×３４＋２＝１７２ 
 

③   ５２     ④     ６９ 
   ７）３６５        ７）４８６ 
     ３５           ４２ 

１５           ６６ 
      １４           ６３ 
       １            ３ 
 ○た７×５２＋１＝３６５   ○た７×６９＋３＝４８６ 

 
⑤   ２５     ⑥      ４３ 

   ８）２０５        ７）３０５ 
     １６           ２８ 

４５           ２５ 
      ４０           ２１ 
       ５            ４ 
○た８×２５＋５＝２０５    ○た７×４３＋４＝３０５ 
 



№７５   ４年 ２ わり算（１） 
 
答 

11  
①  １４６     ②    １２５ 

   ６）８７６        ５）６２５ 
     ６            ５ 

２７           １２ 
     ２４           １０ 
      ３６           ２５ 
       ３６            ２５ 
        ０              ０ 
 

○た６×１４６＝８７６    ○た５×１２５＝６２５ 
 
 
 

③  １３６     ④    １２４ 
   ７）９５２        ８）９９２ 
     ７            ８ 

２５           １９ 
     ２１           １６ 
      ４２           ３２ 

４２           ３２ 
０            ０ 

 ○た７×１３６＝９５２   ○た８×１２４＝９９２ 

 
－４５－ 



№７５   ４年 ２ わり算（１） 
 
11  

①  １４６     ②    １２５ 
   ６）８７６        ５）６２５ 
     ６            ５ 

２７           １２ 
     ２４           １０ 
      ３６           ２５ 
       ３６            ２５ 
        ０              ０ 
 

○た６×１４６＝８７６    ○た５×１２５＝６２５ 
 
  
 

③  １３６     ④    １２４ 
   ７）９５２        ８）９９２ 
     ７            ８ 

２５           １９ 
     ２１           １６ 
      ４２           ３２ 

４２           ３２ 
０            ０ 

 ○た７×１３６＝９５２   ○た８×１２４＝９９２ 

 
               

－４６－ 
 



№７６   ４年 ２ わり算（１） 
 
答 

12 
  

①  １０９     ②    １０５ 
   ３）３２７        ５）５２５ 
     １            ５ 

２            ２ 
      ０            ０ 
      ２７           ２５ 
       ２７            ２５ 
        ０              ０ 
 

○た３×１０９＝３２７    ○た５×１０５＝５２５ 
 
 
 

③  １０９     ④    １０３ 
   ６）６５４        ４）４１２ 
     ６            ４ 

５            １ 
      ０            ０ 
      ５４           １２ 

５４           １２ 
０            ０ 

 ○た６×１０９＝６５４     ○た４×１０３＝４１２ 

 
 



№７６   ４年 ２ わり算（１） 
 
12 
  

①  １０９     ②    １０５ 
   ３）３２７        ５）５２５ 
     １            ５ 

２            ２ 
      ０            ０ 
      ２７           ２５ 
       ２７            ２５ 
        ０              ０ 
 

○た３×１０９＝３２７    ○た５×１０５＝５２５ 
 
 
 

③  １０９     ④    １０３ 
   ６）６５４        ４）４１２ 
     ６            ４ 

５            １ 
      ０            ０ 
      ５４           １２ 

５４           １２ 
０            ０ 

 ○た６×１０９＝６５４     ○た４×１０３＝４１２ 

 
 

                



№７７   ４年 ２ わり算（１） 
 
 ００ ○た６×１０７＋０＝６４２ 
13  

  ① ４８÷４＝１２   ○た４×１２＝４８ 

  ② ２６÷２＝１３   ○た２×１３＝２６ 

  ③ ８４÷４＝２１   ○た４×２１＝８４ 

④ ９３÷３＝３１   ○た３×３１＝８４ 

⑤ ８８÷４＝２２   ○た４×２２＝８８ 

 
14 
  

  ① ５４÷２＝２７   ○た２×２７＝５４ 

  ② ３６÷２＝１８   ○た２×１８＝３６ 

  ③ ９６÷４＝２４   ○た４×２４＝９６ 

④ ７２÷４＝１８   ○た４×１８＝７２ 

⑤ ８５÷５＝１７   ○た５×１７＝８５ 

 

 

－４７－ 



№７７   ４年 ２ わり算（１） 
 
  
13  

  ① ４８÷４＝１２   ○た４×１２＝４８ 

  ② ２６÷２＝１３   ○た２×１３＝２６ 

  ③ ８４÷４＝２１   ○た４×２１＝８４ 

④ ９３÷３＝３１   ○た３×３１＝８４ 

⑤ ８８÷４＝２２   ○た４×２２＝８８ 

 
14 
  

  ① ５４÷２＝２７   ○た２×２７＝５４ 

  ② ３６÷２＝１８   ○た２×１８＝３６ 

  ③ ９６÷４＝２４   ○た４×２４＝９６ 

④ ７２÷４＝１８   ○た４×１８＝７２ 

⑤ ８５÷５＝１７   ○た５×１７＝８５ 

 

                     

－４８－ 



№７８   ４年 基本問題 
４ 小数   

 
１  ０．６＋０．２ ＝ ０．８ 
 
２  ０．６－０．２ ＝ ０．４ 
 
 
 筆算でしなさい。（３ ４） 
３  ２．６＋１．２       
 
 
 
 
 
 
 
４  ２．６－１．２ 
 
 
 
 
 
 
 
 
 



№７８   ４年 基本問題 
４ 小数 

 
１～４ 
 
１  ０．６＋０．２ ＝ ０．８ 
 
２  ０．６－０．２ ＝ ０．４ 
 
 
 筆算でしなさい。（３ ４） 
３  ２．６＋１．２       
 

２．６ 
０＋１．２ 
０３．８  

 
 
 
４  ２．６－１．２ 
 

２．６ 
０－１．２ 
０１．４  

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

－４９－ 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

－５０－ 



№７９   ４年 ４ 小数 
 
 
１  
①  ０．２ ＋ ０．１ ＝ ０．３     

 
②  ０．３ ＋ ０．４ ＝ ０．７ 

 
③ ０．４ ＋ ０．６ ＝ １ 

 
④  ０．７ ＋ ０．３ ＝ １ 

 
⑤ ０．９ ＋ ０．３ ＝ １．２  

 
⑥  １．２ ＋ ０．３ ＝ １．５ 

 
⑦ ４．７ ＋ ０．５ ＝ ５．２     

 
⑧  ６．７ ＋ ０．３ ＝ ７ 

 
２   
①  ０．５ － ０．３ ＝ ０．２     

   
②  ０．８ － ０．２ ＝ ０．６ 

 
③ １ － ０．３ ＝ ０．７         

 
④  １ － ０．７ ＝ ０．３ 

 
⑤ １．５ － ０．３ ＝ １．２     

 
⑥  ２．４ － ０．８ ＝ １．６ 

 
⑦ ６．９ － ０．９ ＝ ６         

 
⑧  ３ － ０．６ ＝ ２．４ 



№７９   ４年 ４ 小数 
 
１  
①  ０．２ ＋ ０．１ ＝ ０．３     

 
②  ０．３ ＋ ０．４ ＝ ０．７ 

 
③ ０．４ ＋ ０．６ ＝ １ 

 
④  ０．７ ＋ ０．３ ＝ １ 

 
⑤ ０．９ ＋ ０．３ ＝ １．２  

 
⑥  １．２ ＋ ０．３ ＝ １．５ 

 
⑦ ４．７ ＋ ０．５ ＝ ５．２ 

 
⑧  ６．７ ＋ ０．３ ＝ ７ 

 
２   
①  ０．５ － ０．３ ＝ ０．２     

   
②  ０．８ － ０．２ ＝ ０．６ 

 
③ １ － ０．３ ＝ ０．７         

 
④  １ － ０．７ ＝ ０．３ 

 
⑤ １．５ － ０．３ ＝ １．２  

 
⑥  ２．４ － ０．８ ＝ １．６ 

 
⑦ ６．９ － ０．９ ＝ ６ 

 
⑧  ３ － ０．６ ＝ ２．４ 

                         



                         
№８０   ４年 ４ 小数 
 
 
３ ひっ算でしましょう。 
    ①  ２．３ ＋ ３．５          ②  ３．６ ＋ ４．７ 
 
           ２．３                         ３．６ 
        ＋ ３．５                      ＋ ４．７   
           ５．８                         ８．３ 

 
③  ７ ＋ ４．５              ④  ２．８ ＋ ７ 
 

         ７                              ２．８ 
        ＋ ４．５                       ＋ ７       
        １１．５                          ９．８ 
 
 
４ひっ算でしましょう。 
    ①  ６．８ － １．５          ②  ７．２ － ３．５ 
 
            ６．８                         ７．２ 
         － １．５                      － ３．５   
            ２．３                         ３．７ 
 
    ③  ９ － ３．８              ④  ７．３ － ６．３ 
 
            ９                             ７．３ 

－ ３．８                      － ６．３   
            ５．２                             １ 
 

－５１－ 



№８０   ４年 ４ 小数 

 
３ ひっ算でしましょう。 
    ①  ２．３ ＋ ３．５          ②  ３．６ ＋ ４．７ 
 
           ２．３                         ３．６ 
        ＋ ３．５                      ＋ ４．７   
           ５．８                         ８．３ 

 
③  ７ ＋ ４．５              ④  ２．８ ＋ ７ 
 

         ７                              ２．８ 
        ＋ ４．５                       ＋ ７       
         １１．５                          ９．８ 
 
 
４ひっ算でしましょう。 
    ①  ６．８ － １．５          ②  ７．２ － ３．５ 
 
            ６．８                         ７．２ 
         － １．５                      － ３．５   
            ５．３                         ３．７ 
 
    ③  ９ － ３．８              ④  ７．３ － ６．３ 
 
            ９                             ７．３ 

－ ３．８                      － ６．３   
            ５．２                         １ 
 
 
  

－５２― 



№８１ ４年 基本問題  10 わり算（2） 
 

 １ ４０÷２０＝２    ○た２０×２＝６０ 

 ２ ５０÷２０＝２…１０ ○た２０×２＋１０＝５０   

 ３ ２４０÷８０＝３   ○た８０×３＝２４０ 

 ４ ２３０÷３０＝７…２０ ○た３０×７＋２０＝２３０ 

 
 ５    ４     ６   ３３ 
  ２１）８４       ２５）７５        

８４                    ７５ 
 ０                      ０ 
 ○た４×２１＋０＝８４  ○た３×２５＋０＝７５ 
 
 
 ７     ４     ８   ２３ 
  ３１）１２４      ２３）７５ 
     １２４         ６９ 

０          ６ 
 ○た４×３１＋０＝１２４ ○た３×２３＋６＝７５ 
 
 
 ９    ４     10   ２５ 
  １３）５２       １５）７５ 
     ５２          ７５ 

０           ０ 
 ○た４×１３＋０＝５２  ○た５×１５＋０＝７５ 
 



№８１ ４年 基本問題  10 わり算（2） 
 
 

 １ ４０÷２０＝２    ○た２０×２＝６０ 

 ２ ５０÷２０＝２…１０ ○た２０×２＋１０＝５０   

 ３ ２４０÷８０＝３   ○た８０×３＝２４０ 

 ４ ２３０÷３０＝７…２０ ○た３０×７＋２０＝２３０ 

 
 ５    ４     ６   ３３ 
  ２１）８４       ２５）７５        

８４                    ７５ 
 ０                      ０ 
 ○た２１×４＋０＝８４  ○た２５×３＋０＝７５ 
 
 
 ７     ４     ８    ３ 
  ３１）１２４      ２３）７５ 
     １２４         ６９ 

０          ６ 
 ○た３１×４＋０＝１２４ ○た２３×３＋６＝７５ 
 
 
 ９    ４     10    ５ 
  １３）５２       １５）７５ 
     ５２          ７５ 

０           ０ 
 ○た１３×４＋０＝５２  ○た１５×５＋０＝７５ 



 
 

 11     ９     12    ３２１ 
  ５８）５２２       ３２）６７２      

５２２                    ６４ 
 ０ ０                      ３２ 
 ０                        ３２ 

                         ０ 
 ○た９×５８＝５２２   ○た２１×３２＝６７２ 
  

 13     ２１     14     １６ 
   ２６）５５０       ３７）５９２ 
      ５２          ３７ 
       ３０         ２２２ 
       ２６         ２２２ 
        ４            ０ 
 

○た２１×２６＋４＝５５０       ○た１６×３７＝５９２ 
 
 

 15       ３０     16 900÷300＝３ 
   ２８）８６１       ○た3×300＝900 
      ８６          
       ２１    17 2800÷700＝４ 

               ○た4×700＝2800    
○た３０×２８＋２１＝８６１ 

               
 18 12 万÷3 万＝４ 
 

          ○た4－５３－ 



 
 
 11     ９     12    ３２１ 
  ５８）５２２       ３２）６７２      

５２２                    ６４ 
 ０ ０                      ３２ 
 ０                        ３２ 

                         ０ 
 ○た５８×９＝５２２   ○た３２×２１＝６７２ 
  

 13     ２１     14     １６ 
   ２６）５５０       ３７）５９２ 
      ５２          ３７ 
       ３０         ２２２ 
       ２６         ２２２ 
        ４            ０ 
 

○た２６×２１＋４＝５５０       ○た３７×１６＝５９２ 
 
 

 15       ３０     16 900÷300＝３ 
   ２８）８６１       ○た3×300＝900 
      ８６          
       ２１    17 2800÷700＝４ 

               ○た4×700＝2800    
○た２８×３０＋２１＝８６１ 

18 12 万÷3 万＝４ 

          ○た4×３万＝12 万 

－５４－ 



№８２   ４年 10 わり算（2） 
 ００ ○た６×１０７＋０＝６４２ 
１  

  ① ９０÷３０＝３   ○た３×３０＝９０ 

  ② ８０÷４０＝２   ○た２×４０＝８０ 

  ③ ６０÷３０＝２   ○た２×３０＝６０ 

２  

① ９０÷２０＝４…１０ ○た２０×４＋１０＝９０ 

② ７０÷２０＝２…１０ ○た２０×２＋１０＝７０ 

③ ９０÷４０＝２…１０ ○た４０×２＋１０＝９０ 

３  

① ３５０÷７０＝５  ○た７０×５＝３５０ 

② ５４０÷６０＝９  ○た６０×９＝５４０ 

③ ４００÷５０＝８  ○た５０×８＝４００ 

４  

① ３９０÷６０＝６…３０ ○た６０×６＋３０＝３９０ 

② ７８０÷８０＝９…６０ ○た８０×９＋６０＝７８０ 

③ ５００÷９０＝５…５０ ○た９０×５＋３０＝５００ 
 



№８２   ４年 10 わり算（2） 
 ００ ○た６×１０７＋０＝６４２ 
１  

  ① ９０÷３０＝３   ○た３０×３＝９０ 

  ② ８０÷４０＝２   ○た４０×２＝８０ 

  ③ ６０÷３０＝２   ○た３０×２＝６０ 

２  

① ９０÷２０＝４…１０ ○た２０×４＋１０＝９０ 

② ７０÷２０＝２…１０ ○た２０×２＋１０＝７０ 

③ ９０÷４０＝２…１０ ○た４０×２＋１０＝９０ 

３  

① ３５０÷７０＝５  ○た７０×５＝３５０ 

② ５４０÷６０＝９  ○た６０×９＝５４０ 

③ ４００÷５０＝８  ○た５０×８＝４００ 

４  

① ３９０÷６０＝６…３０ ○た６０×６＋３０＝３９０ 

② ７８０÷８０＝９…６０ ○た８０×９＋６０＝７８０ 

③ ５００÷９０＝５…５０ ○た９０×５＋３０＝５００ 
 



№８３   ４年 10 わり算（2） 
 

５ 
①    ３     ②    ３ 

  １２）３６       ３３）９９        
３６                    ９９ 
０           ０ 

 
 ○た３×１２＋０＝３６  ○た６×３３＋０＝９９ 
 
 
 ③    ２   ６ ①   ２２ 
  ４２）８４       ３８）７６ 
     ８４          ７６ 

０           ０ 
 
 ○た２×４２＋０＝８４  ○た２×３８＋０＝７６ 
 
 
②    ４     ③   １３ 

  ２３）９２       ２６）７８ 
     ９２          ７８ 
      ０           ０    
 
 ○た４×２３＋０＝９２  ○た３×２６＋０＝７８ 
 
 

－５５－ 



№８３   ４年 10 わり算（2） 
 

５ 
①    ３     ②    ３ 

  １２）３６       ３３）９９        
３６                    ９９ 
０           ０ 

 
 ○た１２×３＋０＝３６  ○た３３×３＋０＝９９ 
 
 
 ③    ２   ６ ①   ２２ 
  ４２）８４       ３８）７６ 
     ８４          ７６ 

０           ０ 
 
 ○た４２×２＋０＝８４  ○た３８×２＋０＝７６ 
 
 
②    ４     ③    ３ 

  ２３）９２       ２６）７８ 
     ９２          ７８ 
      ０           ０    
 
 ○た２３×４＋０＝９２  ○た２６×３＋０＝７８ 
 
 

－５６－ 



№８４   ４年 10 わり算（2） 
 

７ 
 
①     ９     ②     １３ 

  ５４）４８６      ７４）２２２ 
     ４８６         ２２２ 

０           ０ 
 
 ○た９×５４＝４８６   ○た３×７４＝２２２ 

 
③     ６   ８ ①     １３ 

  ８６）５１６      ３５）１１０ 
     ５１６         １０５ 

０           ５ 
 
 ○た６×８６＝５１６ ○た３×３５＋５＝１１０ 

 
 
②     ６     ③     １４ 

  ５４）３２９      ９４）４１２ 
     ３２９         ３７６ 

５          ３６ 
 
 ○た６×５４＋５＝３２９  ○た４×９４＋３６＝４１２ 
 
 
  



№８４   ４年 10 わり算（2） 
 

７ 
 
①     ９     ②      ３ 

  ５４）４８６      ７４）２２２ 
     ４８６         ２２２ 

０           ０ 
 
 ○た５４×９＝４８６   ○た７４×３＝２２２ 

 
③     ６   ８ ①      ３ 

  ８６）５１６      ３５）１１０ 
     ５１６         １０５ 

０           ５ 
 
 ○た８６×６＝５１６ ○た３５×３＋５＝１１０ 

 
 
②     ６     ③      ４ 

  ５４）３２９      ９４）４１２ 
     ３２９         ３７６ 

５          ３６ 
 
 ○た５４×６＋５＝３２９  ○た９４×４＋３６＝４１２ 
 
 
  



№８５   ４年 10 わり算（2） 
 

９ 
 
①     ７     ②     １８ 

  ５９）４１３      ４８）３８４ 
     ４１３         ３８４ 

０           ０ 
 
 ○た７×５９＝４１３   ○た８×４８＝３８４ 

 
③     ８   10 ①      ７ 

  ６８）５４４      ３９）２７３ 
     ５４４         ２７３ 

０           ０ 
 
 ○た８×６８＝５４４   ○た７×３９＝２７３ 

 
 
②     ５     ③     １６ 

  ２６）１５５      ４８）３２１ 
     １３０         ２８８ 

２５          ３３ 
 
 ○た５×２６＋２５＝１５５ ○た６×４８＋３３＝３２１ 
 
 

 －５７－ 



 
№８５   ４年 10 わり算（2） 
 

９ 
 
①     ７     ②      ８ 

  ５９）４１３      ４８）３８４ 
     ４１３         ３８４ 

０           ０ 
 
 ○た５９×７＝４１３   ○た４８×８＝３８４ 

 
③     ８   10 ①      ７ 

  ６８）５４４      ３９）２７３ 
     ５４４         ２７３ 

０           ０ 
 
 ○た６８×８＝５４４   ○た３９×７＝２７３ 

 
 
②     ５     ③      ６ 

  ２６）１５５      ４８）３２１ 
     １３０         ２８８ 

２５          ３３ 
 
 ○た２６×５＋２５＝１５５ ○た４８×６＋３３＝３２１ 
 

 －５８－ 



№８６   ４年 10 わり算（2） 
 
11 

 
①     ８     ②     １９ 

  ２５）２００      ６９）６２７ 
     ２００         ６２７ 

０           ６ 
 
 ○た８×２５＝２００    ○た９×６９＋６＝６２７ 

 
③     ６   12 ①     １３ 

  １８）１１８      ２８）３６４ 
     １０８         ２８ 

１０          ８４ 
            ８４ 

                   ０ 
 ○た６×１８＋１０＝１１８   ○た１３×２８＝３６４ 

 
 
②    ３３     ③     ３１ 

  ２５）８２５      １８）５５８ 
     ７５          ５４ 

７５          １８ 
      ７５          １８ 
       ０           ０ 
 
 ○た３３×２５＝８２５    ○た３１×１８＝５５８ 



№８６   ４年 10 わり算（2） 
 
11 

 
①     ８     ②      ９ 

  ２５）２００      ６９）６２７ 
     ２００         ６２７ 

０           ６ 
 
 ○た２５×８＝２００    ○た６９×９＋６＝６２７ 

 
③     ６   12 ①     １３ 

  １８）１１８      ２８）３６４ 
     １０８         ２８ 

１０          ８４ 
            ８４ 

                   ０ 
 ○た１８×６＋１０＝１１８   ○た２８×１３＝３６４ 

 
 
②    ３３     ③     ３１ 

  ２５）８２５      １８）５５８ 
     ７５          ５４ 

７５          １８ 
      ７５          １８ 
       ０           ０ 
 
 ○た２５×３３＝８２５    ○た１８×３１＝５５８ 



№８７   ４年 10 わり算（2） 
 
13 
①    ２２    ②       ２５ 

  ３７）８３２      １３）３２９ 
     ７４          ２６ 

９２          ６９ 
      ７４          ６５ 
      １８           ４ 
 

 ○た２２×３７＋１８＝８３２   ○た２５×１３＋４＝３２９ 
 
③    ２２  14 ①      １８ 

  ４５）９９９      ５２）９７３ 
     ９０          ５２ 

９９         ４５３ 
      ９０         ４１６ 
       ９          ３７ 

 ○た２２×４５＋９＝９９９   ○た１８×５２＋３７＝９７３ 
 
②    １８     ③     ４８ 

  ２６）４７０      １８）８６４ 
     ２６          ７２ 

２１０         １４４ 
     ２０８         １４４ 
       ２           ０ 
  ○た１８×２６＋２＝４７０   ○た４８×１８＝８６４ 

 －５９－ 



№８７   ４年 10 わり算（2） 
 
 
13 
①    ２２    ②       ２５ 

  ３７）８３２      １３）３２９ 
     ７４          ２６ 

９２          ６９ 
      ７４          ６５ 
      １８           ４ 

 ○た３７×２２＋１８＝８３２   ○た１３×２５＋４＝３２９ 
 
③    ２２  14 ①      １８ 

  ４５）９９９      ５２）９７３ 
     ９０          ５２ 

９９         ４５３ 
      ９０         ４１６ 
       ９          ３７ 

 ○た４５×２２＋９＝９９９   ○た５２×１８＋３７＝９７３ 
 
②    １８     ③     ４８ 

  ２６）４７０      １８）８６４ 
     ２６          ７２ 

２１０         １４４ 
     ２０８         １４４ 
       ２           ０ 
  ○た２６×１８＋２＝４７０   ○た１８×４８＝８６４ 

－６０― 



№８８   ４年 10 わり算（2） 
 
15 
①    ２０    ②       ２０ 

  ３２）６５４      ３４）６８３ 
     ６４          ６８ 

１４           ３ 
       ０           ０ 
      １４           ３ 
 

 ○た２０×３２＋１４＝６５４   ○た２０×３４＋３＝６８３ 
 
③    ５０ 

  １９）９５０ 
     ９５  

０ 
 

 ○た５０×１９＝９５０ 
 
 
 
 
 
 
 
 
 
 
 
 



№８８   ４年 10 わり算（2） 
 
15 
①    ２０    ②       ２０ 

  ３２）６５４      ３４）６８３ 
     ６４          ６８ 

１４           ３ 
       ０           ０ 
      １４           ３ 
 

 ○た３２×２０＋１４＝６５４   ○た３４×２０＋３＝６８３ 
 
③    ５０ 

  １９）９５０ 
     ９５  

０ 
 

 ○た１９×５０＝９５０ 
 
 
 
 
 
 
 
 
 
 
 
 



№８９   ４年 10 わり算（2） 
 ００ ○た６×１０７＋０＝６４２ 
16  

  ① ８００÷４００＝２    

  ② ６００÷２００＝３    

  ③ ４００÷２００＝２   

④ ６００÷３００＝２ 

 
17  

  ① ２４００÷６００＝４ 

  ② ４９００÷７００＝７ 

  ③ ６４００÷８００＝２１ 

④ ７２００÷９００＝８ 
 
18  

  ① ３２万÷４万＝８ 

  ② １４０万÷７０万＝２ 

  ③ ５６億÷８億＝７ 

④ ６４０億÷８０億＝８ 

－６１－ 



№８９   ４年 10 わり算（2） 
 
16  

  ① ８００÷４００＝２ 

  ② ６００÷２００＝３ 

  ③ ４００÷２００＝２ 

④ ６００÷３００＝２ 

 
17  

  ① ２４００÷６００＝４ 

  ② ４９００÷７００＝７ 

  ③ ６４００÷８００＝８ 

④ ７２００÷９００＝８ 
 
18  

  ① ３２万÷４万＝８ 

  ② １４０万÷７０万＝２ 

  ③ ５６億÷８億＝７ 

④ ６４０億÷８０億＝８ 

－６２－ 


